ID:1210 P- 1

P e SR
F 2 o4 B O#E 58 H 5l Rk
L S FI064£06 H 29 H ETEREL 78 kv (Biir)
ih A PE Hi wmH | Wkoe | A Sy e il e g1
EPN S fr JE 10. 00| FH*f 330 3,3000 2,700 2,445 1, 620
H ¥ £ ¥ 15. 00| fHxf 810 12,150 1,242 1,056 864
1E 9 NAHE £ % 4. 00| FH*} 33 132]  2,808| 2,648| 2,592
H % e 3. 00| FH*} 222 666 1,296 1,131 864
H A [ 1. 00| B} 305 305 540 436 270
& I | B0 #ERF| 25 125/ 2,700/ 2,004| 1,080
A X B 5. 00| FH*} 347 1,735 1,998| 1,488 378
o | .00 f%f|  s7| 114| 756 o 631 486
LE L =g 4. 00| FHx*} 512 2,048 1,188 987 648
B IR ™ 5 5. 00| fHxt 195 975 1,080 699 432
= | 5.00| #%f | 213] 1,065 1,620 1,223] 486
TG EnsE S 10. 00| FH%f 174 1,740 3,780| 3,420 2,700
A—=T 4 £ IR 10. 00| AHxf 89 890 4, 968
£ A L JE 10. 00| AHxf 652 6,520 1,836 1,731 1,188
LA A £ ¥ 10. 00| FA%F 1,011 10, 110 918 835 216
=1L £ 4. 00| FH*} 610 2, 440 1,026 606 216
AEHEE w5 0.10| fB%f | 2,600 260 157 91 32
ZDXH E ¥ 0. 20| FHx*} 300 60 54
LU 5 W 0. 20| FHx} 150 30 70




ID:1210 P- 2
P e SR
F E 5 B O#E 5 B gl Rk
R3HE AFN064E06 H 29 H 5| v (g 39 kv (Blir)
fh 4 PE Hi #ZH | ke | fEE E=E = I e g1

Bk A 5. 00| FH%F 170 850| 3,240 3,095 3,024
L | 400 fEkt| 98] 792| 3,672| 2,876]

FIU T X B 0. 30| FHx*} 500 150 378 350 302
B X B 0. 30| FHx*} 100 30 518 486 464
[N =Y 15. 50| FAXf 1, 100 17,054| 5,400 4,707 2,376
/NETE R e 10. 00| FAxf 35 350 4,320 3,919| 3,240
Avava 7 4 U E | 13.00| FH%F 6 78|  3,726| 3,492| 3,024
S % 0. 25| FHxf 311 79 648 584 378




